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Bt 0 0 150 150
BiETERNEES/SIExt RER EBERAE

ZH k2 43 Bt
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i (BfEEET RO x4%5)) 0. 0% 0. 0% 0. 0% 0. 0%
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#Emary)— bk (RC) & 0. 0% 0.0%  100.0%]  100.0%
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#HE (S & 0. 0% 0. 0% 0. 0% 0. 0%
BE S) BETLND 0. 0% 0.0%  100.0%]  100. 0%
HEHFaY)—F (SRC) & 0. 0% 0. 0% 0. 0% 0. 0%
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Bt 0. 0% 0.0%] 100.0%]  100. 0%
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BEAELA® Fi Fik2 Fk3 &5t
Fi# 0 0 147 3 150
% 0.0% 0.0% 98. 0% 2. 0% 100. 0%
BELENPH/MEEENESER (EARE)

B S Fika Fik2 FR3 =1
A& (FEERIE) 0 0 0 1 1
A& (BrdEEE T ;£ x45)) 0 0 0 0 0
K& (TULNTKRENRIVTESED) 0 0 0 0 0
Epar oy )—k (RC) & 0 0 147 0 147
Fpar v )—bk (RC) &E<TL/NTD 0 0 0 0 0
e (S) & 0 0 0 0 0
HE (S) ETLNDD 0 0 0 2 2
BHEHMmI U J— bk (SRC) & 0 0 0 0 0
avyg)—kJavy ((B) & 0 0 0 0 0
Z Dt - ANBF 0 0 0 0 0
a&t 0 0 147 3 150
BELENES/HMEEENESER (EARE)

Ll FR Fih2 F3 &t
A& (FEEIE) 0.0% 0. 0% 0. 0% 100. 0% 100. 0%
A& (PpflEE T A2 x45)) 0.0% 0.0% 0. 0% 0.0% 0. 0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0% 0. 0% 0. 0%
o>y )—bk (RC) & 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
Ea sy U—bk (RC) &E<TLANTY 0.0% 0.0% 0. 0% 0.0% 0. 0%
B (S) & 0.0% 0.0% 0. 0% 0.0% 0. 0%
#%E (S) ETLNT> 0.0% 0. 0% 0. 0% 100. 0% 100. 0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0. 0% 0.0% 0. 0%
avyy—rJavy (CB) & 0.0% 0. 0% 0.0% 0. 0% 0. 0%
Z Dt - A8 0.0% 0.0% 0.0% 0.0% 0. 0%
&5t 0.0% 0.0% 98. 0% 2.0% 100. 0%
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% 1.3% 0.0% 98. 0% 0. 7% 100. 0%
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B S Fika Fik2 FR3 =1
A& (FEERIE) 1 0 0 0 1
A& (BrdEEE T ;£ x45)) 0 0 0 0 0
K& (TULNTKRENRIVTESED) 0 0 0 0 0
Epar oy )—k (RC) & 0 0 147 0 147
Fpar v )—bk (RC) &E<TL/NTD 0 0 0 0 0
e (S) & 0 0 0 0 0
HE (S) ETLNDD 1 0 0 1 2
BHEHMmI U J— bk (SRC) & 0 0 0 0 0
avyg)—kJavy ((B) & 0 0 0 0 0
Z Dt - ANBF 0 0 0 0 0
a&t 2 0 147 1 150
BELENES/HMEEENESER (XARE)

Ll FR Fih2 F3 &t
A& (FEEIE) 100. 0% 0. 0% 0. 0% 0.0% 100. 0%
A& (PpflEE T A2 x45)) 0.0% 0.0% 0. 0% 0.0% 0. 0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0% 0. 0% 0. 0%
o>y )—bk (RC) & 0. 0% 0. 0% 100. 0% 0. 0% 100. 0%
Ea sy U—bk (RC) &E<TLANTY 0.0% 0.0% 0. 0% 0.0% 0. 0%
B (S) & 0.0% 0.0% 0. 0% 0.0% 0. 0%
#%E (S) ETLNT> 50. 0% 0. 0% 0. 0% 50. 0% 100. 0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0. 0% 0.0% 0. 0%
avyy—rJavy (CB) & 0.0% 0. 0% 0.0% 0. 0% 0. 0%
Z Dt - A8 0.0% 0.0% 0.0% 0.0% 0. 0%
&5t 1.3% 0.0% 98. 0% 0.7% 100. 0%
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LU iL 40 4 O\ A 0ONZ |[4AN=FK| 48= 4 0=k A I\N= WA= 4= A4 =k 4k a/n= O/\=7k
Fi# 1 0 0 0 0 0 0 0 0 0 0 147 0 0 0 0
% 0. 7% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 99. 3% 0. 0% 0. 0% 0.0% 0.0%

ZEEL 40 PE=P2 48N |4a/N=FK| 4= 4 O=k A4\ = A4 \=7k 4= 4 =7k A 7= O/Mn= O/MN=7k
A& (FEERIE) 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
RiE (BB T;XQ2 x45D) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K (TLNITKRENRIVTESE) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ko> )— bk (RO) & 0 0 0 0 0 0 0 0 0 0 0 147 0 0 0 0
BBHary)—bk (RC) &E<TL/NTD 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
e (S) & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
$B%E (S) E<TLANTD 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
sEHH Y )—Fk (SRC) & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
avoy—rJowvsy (CB) & 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZDHth - B 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
&t 1 0 0 0 0 0 0 0 0 0 0 147 0 0 0 0

2L 40 =P A4 0ONZ |4k 48= == A A=Y 4= 4 =k 4 a/n= O/\=7
A& (FEEIE) 100. 0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0%
AiE (FfHEE T A2 x4%)) 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0.0% 0. 0% 0.0% 0.0%
K (TLNTKKRENRIVTEE) 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0.0% 0. 0% 0.0% 0.0%
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e (S) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0.0% 0.0%
BB (S) &wE<TLANTD 0.0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0.0% 0.0%
HEHKH Y )—F (SRC) & 0.0% 0. 0% 0.0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0%
avy)—+r2Javy (CB) & 0.0% 0. 0% 0.0% 0.0% 0. 0% 0.0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0%
ZDHh - B 0.0% 0. 0% 0.0% 0. 0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0%
&t 0. 7% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 0. 0% 0.0% 0. 0% 99. 3% 0. 0% 0. 0% 0. 0% 0. 0%
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Fi# 3 147 0 0 150
% 2.0% 98. 0% 0. 0% 0. 0% 100. 0%
BEIEMNPH/FHXER GEAEKE)

B S Fika Fik2 FR3 =1
A& (FEERIE) 1 0 0 0 1
A& (BrdEEE T ;£ x45)) 0 0 0 0 0
K& (TULNTKRENRIVTESED) 0 0 0 0 0
Epar oy )—k (RC) & 0 147 0 0 147
Fpar v )—bk (RC) &E<TL/NTD 0 0 0 0 0
e (S) & 0 0 0 0 0
HE (S) ETLNDD 2 0 0 0 2
BHEHMmI U J— bk (SRC) & 0 0 0 0 0
avyg)—kJavy ((B) & 0 0 0 0 0
Z Dt - ANBF 0 0 0 0 0
a&t 3 147 0 0 150
BELENEES/EHxR GERAEKE)

Ll FR Fih2 F3 &t
A& (FEEIE) 100. 0% 0. 0% 0. 0% 0.0% 100. 0%
A& (PpflEE T A2 x45)) 0.0% 0.0% 0. 0% 0.0% 0. 0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0% 0. 0% 0. 0%
o>y )—bk (RC) & 0. 0% 100. 0% 0. 0% 0. 0% 100. 0%
Ea sy U—bk (RC) &E<TLANTY 0.0% 0.0% 0. 0% 0.0% 0. 0%
B (S) & 0.0% 0.0% 0. 0% 0.0% 0. 0%
#%E (S) ETLNT> 100. 0% 0. 0% 0. 0% 0.0% 100. 0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0. 0% 0.0% 0. 0%
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F# 0 0 22 120 5 147
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RE (FEXRIE) 0 0 0 0 0 0
A (FpfEBE T A2 x45)) 0 0 0 0 0 0
K& (FULNTKRE/NSRIVTEED) 0 0 0 0 0 0
gFHar o J—k (RC) & 0 0 22 120 5 147
oY U—+k (RC) #ESTLANTD 0 0 0 0 0 0
#HE S & 0 0 0 0 0 0
#%E (S) ETLANT> 0 0 0 0 0 0
HEHHa V) —b (SRO) & 0 0 0 0 0 0
avy)—kJAavY (B) & 0 0 0 0 0 0
Z Dfth - 7B/ 0 0 0 0 0 0
a&t 0 0 22 120 5 147
BEIEMNAE/EHxER EFERT) /BRRXFAS
2450mm | 2450mmiA £ | 2550mmik £ | 2650mmil £ | 2750mm ast
xi 2550mmaKiiE | 2650mmaR i | 2750mmR i Lk =a
KE (FTEXRIE) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
AiE (FefEEE T A2 x4%)) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
KiE (FULNTLKRENRRILIES) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
gHmary)—k (RC) & 0. 0% 0. 0% 15. 0% 81. 6% 3. 4% 100. 0%
#Bmaov)—k (RC) &ELTLANTD 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
#%E (S & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
$BE (S) ET LT 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
HEHHa ) —b (SRC) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
avy)—kJavy (B) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
Z D - EY 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
a&t 0. 0% 0. 0% 15. 0% 81. 6% 3. 4% 100. 0%
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2450mm | 2450mmpd £ | 2550mmLl £ | 2650mmil £ | 2750mm ozt

Fith 2550mmk ;% | 2650mmsk i | 2750mmsk Lk =
F# 93 0 48 1 1 143
% 65. 0% 0. 0% 33. 6% 0. 7% 0.7% 100. 0%
BEILZIFH/ EHNER EFER) /FARXHE [RIERNE]

2450mm | 2450mmp £ | 2550mmLl £ | 2650mmel £ | 2750mm ozt

i 2550mmak % | 2650mmsk i | 2750mmsk Lk =R
AiE (EXERIE) 0 0 0 0 0 0
ARiE (BefHRE T ;%<2 x4%)) 0 0 0 0 0 0
ARiE (FULNTLKRENRRILIES) 0 0 0 0 0 0
gy )—k (RC) & 93 0 48 1 1 143
oY U—+k (RC) #ESTLANTD 0 0 0 0 0 0
#%E S & 0 0 0 0 0 0
#BE (S) EITLND 0 0 0 0 0 0
HEHMmIY)—k (SRC) & 0 0 0 0 0 0
a4y )—kJOowvy (CB) & 0 0 0 0 0 0
Z O - T8 0 0 0 0 0 0
&t 93 0 48 1 1 143
BEIEREE/EFHxE EFERE /BHEEXHAE [RIERE]
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*; 2550mmk i | 2650mmsk i | 2750mmsk Lk =a
AiE (EXRIE) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
AiE (FefEEE T A2 x4%)) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
KiE (TULNITKENRILIES) 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
vy )—bk (RC) & 65. 0% 0. 0% 33. 6% 0. 7% 0.7% 100. 0%
oy )—bk (RC) &<T LT 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
#®E (S & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
$%E (S) E<TL/NT> 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
HEHHa ) —b (SRC) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
avy\)—kJowy (CB) & 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
Z Dt - 78 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
&5t 65. 0% 0. 0% 33. 6% 0. 7% 0. 7% 100. 0%
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L B =3 BEE &5t
Fi# 143 0 4 0 147
% 97. 3% 0.0% 2. 7% 0. 0% 100. 0%
BETEMNFH/EHXER EFFEAM) /MEFEATOBERADEXIHOERE

L B =3 B =1
A& (FEERIE) 0 0 0 0 0
A& (BrdEEE T ;£ x45)) 0 0 0 0 0
K& (TULNTKRENRIVTESED) 0 0 0 0 0
Epar oy )—k (RC) & 143 0 4 0 147
Fpar v )—bk (RC) &E<TL/NTD 0 0 0 0 0
e (S) & 0 0 0 0 0
HE (S) ETLNDD 0 0 0 0 0
BHEHMmI U J— bk (SRC) & 0 0 0 0 0
avyg)—kJavy ((B) & 0 0 0 0 0
Z Dt - ANBF 0 0 0 0 0
a&t 143 0 4 0 147
BEIENBES/EHME EFFEAM) /MEFEATOBERARDEXIHOFE

L B (=3 BEiE &t
A& (FEEIE) 0.0% 0. 0% 0. 0% 0.0% 0. 0%
A& (PpflEE T A2 x45)) 0.0% 0.0% 0. 0% 0.0% 0. 0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0% 0. 0% 0. 0%
o>y )—bk (RC) & 97.3% 0. 0% 2. 7% 0. 0% 100. 0%
Ea sy U—bk (RC) &E<TLANTY 0.0% 0.0% 0. 0% 0.0% 0. 0%
B (S) & 0.0% 0.0% 0. 0% 0.0% 0. 0%
#%E (S) ETLNT> 0.0% 0. 0% 0. 0% 0.0% 0. 0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0. 0% 0.0% 0. 0%
avyy—rJavy (CB) & 0.0% 0. 0% 0.0% 0. 0% 0. 0%
Z Dt - A8 0.0% 0.0% 0.0% 0.0% 0. 0%
&5t 97. 3% 0.0% 2. 7% 0.0% 100. 0%
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A-ABHRE (FEFERER)

ZELL

ZEHY

;
—+

Fi# 0 147 147
% 0.0% 100. 0% 100. 0%
BEIEMNFH/ EHXER EFEAR)
Zuial | ZE2HY &Eit
A& (FEERIE) 0 0 0
AiE (FrfERE T A2 x4%)) 0 0 0
KiE (TUNTSKREBNRIVIEED) 0 0 0
Epar oy )—k (RC) & 0 147 147
Fpar v )—bk (RC) &E<TL/NTD 0 0 0
e (S) & 0 0 0
HE (S) ETLNDD 0 0 0
BHEHMmI U J— bk (SRC) & 0 0 0
avyy—kJByY (CB) & 0 0 0
Z Dt - ANBF 0 0 0
a&t 0 147 147
BELENBES/EHxR (EFERAM)
Zalhl | Z2HY &t

A& (FEEIE) 0.0% 0. 0% 0.0%
A& (PpflEE T A2 x45)) 0.0% 0.0% 0.0%
RiE (TUNTRENRILIESE) 0.0% 0. 0% 0.0%
o>y )—bk (RC) & 0. 0% 100. 0% 100. 0%
Ea sy U—bk (RC) &E<TLANTY 0.0% 0.0% 0. 0%
B (S) & 0.0% 0.0% 0.0%
#%E (S) ETLNT> 0.0% 0. 0% 0.0%
HEHHaY ) — bk (SRC) & 0.0% 0. 0% 0.0%
avyy—rJavy (CB) & 0.0% 0. 0% 0.0%
ZDih - N8 0. 0% 0. 0% 0. 0%
&5t 0.0% 100. 0% 100. 0%
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5-1 BEVEEREHFR

Fiki Fih2 Fik3 Fikd F kO ko6 Fiki &t
P& 0 0 0 147 3 0 0 150
% 0. 0% 0. 0% 0. 0% 98. 0% 2. 0% 0. 0% 0. 0% 100. 0%
Huts X 53 5 3%/ MR B S 1 REF R

Fk Fik2 F k3 Fika F ko0 k6 kT &t
13his 0 0 0 0 0 0 0 0
23h 15 0 0 0 0 0 0 0 0
33 i 0 0 0 0 0 0 0 0
Aithig 0 0 0 0 0 0 0 0
Sihigk 0 0 0 147 3 0 0 150
6315 0 0 0 0 0 0 0 0
T3 0 0 0 0 0 0 0 0
83t i 0 0 0 0 0 0 0 0
ait 0 0 0 147 3 0 0 150
X 2B &/ MR F T REF R

e Fik2 k3 Fik4 FiR5 ko6 Eik7 B&t
13hisk 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
21hig 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0% 0. 0%
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